# A Study of Differential Equations That Can Be Transformed Into Bessel's Equation 

Ahmed .M. A. Elmishri<br>Email: Elmeshri.ahmed@yahoo.com<br>Mohamed. M. B. Al Fetori<br>Email: Mohamed Al fetori907@Gmail.com<br>General department - Higher institute For Science and Technology Al garaboulli - Tripoli - Libya

Fateh. A. M. Elwaer
Email: Fatehelwaer1@Gmail.com
General department - Higher institute For Science and Technology
Al shumoukh - Tripoli - Libya

## Abstract.

In mathematics, the Bessel functions are the solutions to the differential Bessel's equation. It is considered the most widespread and important when $n$ is an integer or a half integer.
At the beginning of this research, some important definitions are presented. There will be a definition of the differential Bessel equation, as well as the kinds of Bessel functions (first kind and second kind), their recurrence relations and functions related to the Bessel functions, and some definitions that have relations to the research.
The paper aims at studying the differential equations transformed into Bessel's equation and how to solve it, find the general solution to it, and study when $n$ is an integer or a half integer numbers for both kinds $J_{n}(x), Y_{n}(x)$.


Keywords: Bessel's differential equations, Generating function, Recurrence relations, Transformed.

## 1. Introduction.

Differential equations are the basis of all sciences especially engineering and applied sciences. They are among the most important branches of mathematics in the past and the present. The differential equations are also a basis for solving many issues in the fields of mathematical, physical and electrical sciences, as well as in the field of chemical and mechanical engineering where the mathematical problem is formulated into a differential equation and then solved in many ways that contribute to solving differential equations. Among these methods of solving differential equations is the differential Bessel's equation. It should be noted that our research is concerned with solving differential equations that are transformed to the Bessel's differential equation and how to solve it.

## 1-1. Definition.

the following differential equation ( see [1] , [4] ).

$$
\begin{equation*}
x^{2} \frac{d^{2} y}{d x^{2}}+x \frac{d y}{d x}+\left(x^{2}-n^{2}\right) y=0, n \geq 0 \tag{1}
\end{equation*}
$$

is known as Bessel's equation of order $n$, and the general solution of Bessel's equation (1) of order $n$ is.

$$
\begin{equation*}
y=C_{1} J_{n}(x)+C_{2} Y_{n}(x) \tag{2}
\end{equation*}
$$

The solution $J_{n}(x)$, which has a finite limit as $x$ approaches zero, is called a Bessel function of the first kind and order $n$.
The solution $Y_{n}(x)$ which has no finite limit as $x$ approaches zero, is called a Bessel function of the second kind and order $n$.
If the independent variable $x$ in (1) is changed to $\lambda x$ where when $\lambda$ is a constant, the resulting equation is:

$$
\begin{equation*}
x^{2} \frac{d^{2} y}{d x^{2}}+x \frac{d y}{d x}+\left(\lambda^{2} x^{2}-n^{2}\right) y=0, n \geq 0 \tag{3}
\end{equation*}
$$

With general solution ( see [3] , [4]):

$$
\begin{equation*}
y=C_{1} J_{n}(\lambda x)+C_{2} Y_{n}(\lambda x) \tag{4}
\end{equation*}
$$

## 1-2. Bessel functions of the first kind.

We define the Bessel functions of the first kind of order n as (see [1] , [5] ):

$$
\begin{equation*}
J_{n}(x)=\sum_{k=0}^{\infty} \frac{(-1)^{k}\left(\frac{x}{2}\right)^{n+2 k}}{k!\Gamma(n+k+1)} \tag{5}
\end{equation*}
$$

Where $\Gamma(n+1)$ is the gamma function. If $n$ is a positive integer, $\Gamma(n+1)=n!, \Gamma(1)=1$ for $n=$ 0 , (5) becomes ( see Fig 1 ):

$$
\begin{equation*}
J_{n}(x)=1-\frac{x^{2}}{2^{2}}+\frac{x^{4}}{2^{2} 4^{2}}-\frac{x^{6}}{2^{2} 4^{2} 6^{2}}+\cdots \tag{6}
\end{equation*}
$$

If $n$ is half an odd integer, $J_{n}(x)$ can be expressed in terms of sines and cosines.

$$
\begin{equation*}
J_{\frac{1}{2}}(x)=\sqrt{\frac{2}{\pi x}} \sin x \quad J_{\frac{-1}{2}}(x)=\sqrt{\frac{2}{\pi x} \cos x} \tag{7}
\end{equation*}
$$

A function $J_{-n}(x), n>0$, can be defined by replacing $n$ by -n in (5). If n is an integer then we can show that.

$$
\begin{equation*}
J_{-n}(x)=(-1)^{n} J_{n}(x) \tag{8}
\end{equation*}
$$

If $n$ is not an integer, $J_{n}(x)$ and $J_{-n}(x)$ are linearly independent, and for this case the general solution of (1) is:

$$
\begin{equation*}
y=A J_{n}(x)+B J_{-n}(x) \quad, n \neq 0,1,2,3, \ldots \tag{9}
\end{equation*}
$$

## 1-3. Bessel functions of the second kind.

We shall define the Bessel functions of the second kind of order n as ( see [1] ).
$Y_{n}(x)=\left\{\begin{array}{c}\frac{J_{n}(x) \cos (n \pi)-J_{-n}(x)}{\sin (n n \pi)}, n \neq 0,1,2,3, \ldots \\ \lim _{p \rightarrow n} \frac{J_{p}(x) \cos (p \pi)-J_{-p}(x)}{\sin (p \pi)}, n=0,1,2,3, \ldots\end{array}\right.$
For the case where $n=0,1,2,3, \ldots$, we obtain the following series expansion for $Y_{n}(x)$.

مجلةّ ليبيا للثلوم التطبيقية والتّقنية

$$
Y_{n}(x)=\frac{2}{\pi}\left\{\ln \left(\frac{x}{2}\right)+\gamma\right\} J_{n}(x)-\frac{1}{\pi} \sum_{k=0}^{n-1}(n-k-1)!\left(\frac{x}{2}\right)^{2 k-n}-\frac{1}{\pi} \sum_{k=0}^{\infty}(-1)^{k}\{\emptyset(k)+\emptyset(n+k)\} \frac{\left(\frac{x}{2}\right)^{2 k+n}}{k!(n+k)!}
$$

where $\gamma=0.5772156$ Be a Euler constant, $\emptyset(p)=1+\frac{1}{2}+\frac{1}{3}+\cdots+\frac{1}{p}, \quad \varnothing(0)=0($ see Fig 2 ).


Figure 1: Bessel functions of the first kind, $J_{n}(x)$ for integer orders $n=0,1,2$


Figure 2: Bessel functions of the second kind, $Y_{n}(x)$ for integer orders $n=0,1,2$

## 2. Generating function for $J_{\boldsymbol{n}}(x)$.

The function.

$$
\begin{equation*}
e^{\frac{x}{2}\left(t-\frac{1}{t}\right)}=\sum_{n=-\infty}^{\infty} J_{n}(x) t^{n} \tag{11}
\end{equation*}
$$

Is called the generating function for Bessel functions of the first kind of integer order.
It is very useful in obtaining properties of these functions for integer values of $n$ which can then often be proved for all values ( see [5] ).

مجلة ليبيا للعلوم التطبيقبية والتقنبية
3. Recurrence Relations for $\boldsymbol{J}_{\boldsymbol{n}}(\boldsymbol{x})$ ( see [3] ).

The following results are valid for all values of $n$.

1) $J_{n+1}(x)=\frac{2 n}{x} J_{n}(x)-J_{n-1}(x)$
2) $f_{n}(x)=\frac{1}{2}\left[J_{n-1}(x)-J_{n+1}(x)\right]$
3) $x J_{n}(x)=n J_{n}(x)-x J_{n+1}(x)$
4) $\frac{d}{d x}\left[x^{n} J_{n}(x)\right]=x^{n} J_{n-1}(x)$
5) $x J_{n}(x)=x J_{n-1}(x)-n J_{n}(x)$
6) $\frac{d}{d x}\left[x^{-n} J_{n}(x)\right]=-x^{-n} J_{n+1}(x)$
4. Functions related to Bessel functions (see [2] , [4] ).
(4-a): Hankel Functions ( Bessel functions of the third kind ).
A third kind of functions ( complex - valued ) for $n \in \mathbb{R}, n \notin \mathbb{Z}$.

$$
H_{n}^{(1)}=J_{n}(x)+i Y_{n}(x), H_{n}^{(2)}=J_{n}(x)-i Y_{n}(x)
$$

## (4-b): Modified Bessel functions.

The modified Bessel functions of the first kind of order $n$ are defined as follows:

$$
I_{n}(x)=i^{-n} J_{n}(i x)=e^{\frac{-n \pi i}{2}} J_{n}(i x)
$$

If n is an integer number then $I_{-n}(x)=I_{n}(x)$.
If n is not an integer number, then $I_{-n}(x)$ and $I_{n}(x)$ are linearly independent.

## (4-c): Kelvin Functions.

The Kelvin functions are obtained from the real and imaginary portions of this solution as follows.

$$
\begin{gathered}
\operatorname{ber}_{n}(x)=\operatorname{Re} J_{n}\left(i^{\frac{3}{2}} x\right) \\
b e i_{n}(x)=\operatorname{Im} J_{n}\left(i^{\frac{3}{2}} x\right) \\
J_{n}\left(i^{\frac{3}{2}} x\right)=\operatorname{ber}_{n}(x)+i b e i_{n}(x) \\
\operatorname{ker}_{n}(x)=\operatorname{Re} i^{-n} K_{n}\left(i^{\frac{1}{2}} x\right) \\
k e i_{n}(x)=\operatorname{Im} i^{-n} K_{n}\left(i^{\frac{1}{2}} x\right) \\
i^{-n} K_{n}\left(i^{\frac{1}{2}} x\right)=k e r_{n}(x)+i k e i_{n}(x)
\end{gathered}
$$

These functions are useful for being related to the equation:

$$
\begin{equation*}
x^{2} \frac{d^{2} y}{d x^{2}}+x \frac{d y}{d x}-\left(i x^{2}+n^{2}\right) y=0, n \geq 0 \tag{12}
\end{equation*}
$$

And the general solution is :
$y=C_{1} J_{n}\left(i^{\frac{3}{2}} x\right)+C_{2} K_{n}\left(i^{\frac{1}{2}} x\right)$
If we put $\lambda^{2}=i$ in equation (12), So we have the modified Bessel's equation:

$$
x^{2} \frac{d^{2} y}{d x^{2}}+x \frac{d y}{d x}-\left(\lambda^{2} x^{2}+n^{2}\right) y=0, n \geq 0
$$

And the general solution is :

$$
y=A I_{n}(\lambda x)+B K_{n}(\lambda x)
$$

## Example (1):

Solve the differential equation $x^{2} y^{\prime \prime}+x y^{\prime}+\left(3 x^{2}-2\right) y=0$ ?
Solution.
This equation has order $\sqrt{2}$ and differs from the standard Bessel equation only by factor 3 before $x^{2}$. Therefore, the general solution of the equation is expressed by the formula $y(x)=C_{1} J_{\sqrt{2}}(\sqrt{3} x)+C_{2} Y_{\sqrt{2}}(\sqrt{3} x)$.
where $C_{1}, C_{2}$ are constants, $J_{\sqrt{2}}(\sqrt{3} x)$ and $Y_{\sqrt{2}}(\sqrt{3} x)$ are Bessel functions of the 1st and 2nd kind, respectively.

## Example (2):

Solve the differential equation $x^{2} y^{\prime \prime}+x y^{\prime}-\left(4 x^{2}+\frac{1}{2}\right) y=0$ ?
Solution.
This equation differs from the modified Bessel equation by factor 14 in front of $x^{2}$. The order of the equation is $n=\frac{1}{\sqrt{2}}$. Then the general solution is written through the modified Bessel functions in the following way:
$y(x)=C_{1} I_{\frac{1}{\sqrt{2}}}(2 x)+C_{2} K_{\frac{1}{\sqrt{2}}}(2 x)$ where $C_{1}, C_{2}$ are arbitrary constants.
Now, after the introduction and previous definitions, we are now studying the general solution to differential equations that has transformed into the Bissell differential equation.

## 4. Equations transformed into Bessel's equation.

Any differential equation we can transformed to this equation.

$$
\begin{equation*}
x^{2} \frac{d^{2} y}{d x^{2}}+(2 k+1) x \frac{d y}{d x}+\left(\alpha^{2} x^{2 r}+\beta^{2}\right) y=0 \tag{16}
\end{equation*}
$$

where $\beta, r, \alpha, k$ are constants, has the general solution.

$$
\begin{equation*}
y(x)=x^{-k}\left[C_{1} J_{\frac{h}{r}}\left(\frac{\alpha x^{r}}{r}\right)+C_{2} Y_{\frac{h}{r}}\left(\frac{\alpha x^{r}}{r}\right)\right] \tag{17}
\end{equation*}
$$

where $h=\sqrt{k^{2}-\beta^{2}}, C_{1}, C_{2}$ are constants ( see [1] ).

## Example (1):

Obtain the general solution of $4 y^{\prime \prime}+9 x y=0$ ?

## Solution.

In terms of Bessel functions.
Multiplying by $x^{2}$ and dividing by 4 , we have.
$x^{2} y^{\prime \prime}+\frac{9}{4} x^{3} y=0$
We can now identify with equation (16), namely.
$x^{2} \frac{d^{2} y}{d x^{2}}+(2 k+1) x \frac{d y}{d x}+\left(\alpha^{2} x^{2 r}+\beta^{2}\right) y=0$ as follows:
$\beta=0, r=\frac{3}{2}, \alpha=\frac{3}{2}, k=\frac{-1}{2}, h=\frac{1}{2}$.
The general solution is $y(x)=\sqrt{x}\left[C_{1} J_{\frac{1}{3}}\left(x^{\frac{3}{2}}\right)+C_{2} J_{\frac{-1}{3}}\left(x^{\frac{3}{2}}\right)\right]$, where $C_{1}, C_{2}$ are constants.

## Example (2):

Solve the differential equation $x y^{\prime \prime}+y^{\prime}+a y=0$ ?
Solution.
In terms of Bessel functions.
Multiplying by $x$, we have.

$$
x^{2} y^{\prime \prime}+x y^{\prime}+a x y=0
$$

We can now identify with equation (16), namely.
$x^{2} \frac{d^{2} y}{d x^{2}}+(2 k+1) x \frac{d y}{d x}+\left(\alpha^{2} x^{2 r}+\beta^{2}\right) y=0$ as follows:
$\beta=0, r=\frac{1}{2}, \alpha=\sqrt{a}, k=0, h=0$.
The general solution is $y(x)=C_{1} J_{0}(2 \sqrt{a x})+C_{2} Y_{0}(2 \sqrt{a x})$, where $C_{1}, C_{2}$ are constants.

## Example (3):

Solve the differential equation $4 x y^{\prime \prime}+4 y^{\prime}+y=0$ ?

## Solution.

In terms of Bessel functions.
Multiplying by $x$ and dividing by 4 , we have.

$$
x^{2} y^{\prime \prime}+x y^{\prime}+\frac{1}{4} x y=0
$$

We can now identify with equation (16), namely.
$x^{2} \frac{d^{2} y}{d x^{2}}+(2 k+1) x \frac{d y}{d x}+\left(\alpha^{2} x^{2 r}+\beta^{2}\right) y=0$ as follows:
$\beta=0, r=\frac{1}{2}, \alpha=\frac{1}{2}, k=0, h=0$.
The general solution is $y(x)=A J_{0}(\sqrt{x})+B Y_{0}(\sqrt{x})$, where $A, B$ are constants.

## Example (4):

A coil spring is such that a force of 8 lbs . will stretch the spring 6 inches. If the spring is suspended in a vertical position with a 4 lb . weight attached to the lower end (hanging free), and then the lower end is pushed up to a point 2 inches above the point of equilibrium and released, determine the equation of motion. Use $32 \mathrm{ft} / \mathrm{sec}^{2}$. for $g$.

## Solution.

The differential equation is formulated as follows.

$$
\begin{aligned}
\text { Force }= & (\text { mass })(\text { acceleration }) \\
& =\frac{d}{d t}\left(\frac{W}{g} \frac{d y}{d t}\right)
\end{aligned}
$$

Since $\frac{W}{g}$ is a constant in this problem, we get by carrying out the indicated differentiation.

$$
F=\frac{W}{g} \frac{d^{2} y}{d t^{2}}
$$

This force is equated to the restorative force, which is the product of the spring constant $k$ and the displacement $y$ of the lower end from the point of equilibrium.
We have.

$$
8 \text { lbs }=k(\text { stretch }- \text { distance in feet })
$$

whence $k=16$. Thus the restorative force is $-16 y$. So, upon equating these two forces, we have the differential equation of motion (ignoring friction):

$$
\frac{4}{32} \frac{d^{2} y}{d t^{2}}+16 y=0
$$

Or.

$$
\frac{d^{2} y}{d t^{2}}+128 y=0
$$

In terms of Bessel functions.
Multiplying by $t^{2}$, we have.

$$
t^{2} y^{\prime \prime}+128 t^{2} y=0
$$

So that.
$\beta=0, r=1, \alpha=\sqrt{128}, k=\frac{-1}{2}, h=\frac{1}{2}$.
The general solution is $y(x)=\sqrt{t}\left[C_{1} J_{\frac{1}{2}}(\sqrt{128} t)+C_{2} J_{\frac{-1}{2}}(\sqrt{128} t)\right]$, where $C_{1}, C_{2}$ are constants.
With reference to equation No (7), we may write the general solution:
$y(x)=A \operatorname{Sin}(\sqrt{128} t)+B \operatorname{Cos}(\sqrt{128} t)$, where $A=\sqrt{\frac{2}{\pi}} C_{1}, \quad B=\sqrt{\frac{2}{\pi}} C_{2}$.

## 5. Conclusions.

We have noticed through our study that many differential equations can be transformed into Bessel's equation that were indicated in this paper with number (16), and therefore we can find the general solution for it with its first kind and second kind by following the mentioned steps.

## 6. Recommendations.

By studying the solution of differential equations that can be transformed into Bessel's equation which were indicated by number (16), researchers recommend expanding the study of these differential equations, especially when ( $\mathrm{h}=$ complex number ) to better determine the advantages of the solution.

## References

[1]. Murray .R. Spiegel, ph. D, Advanced mathematics for engineers and scientists (Schaum's outline series), Head of the Department of Mathematics at the Rensselaer Institute of Applied Multiple Arts. Edition year 1971.
[2]. Orin J. Farrell (Union College), Bertram Ross (New Haven College), Solved problems in analysis: as applied to gamma, beta, Legendre and Bessel functions, Dover Publications, Inc, Mineola, New York 2013.

مجلةّ ليبيا للعلوم التطبيقية والتقنية
[3]. W.W. BELL, Special Functions for Scientists and Engineers, Lecturer in Theoretical Physics, Department of Natural Philosophy, University of Aberdeen, UK, Edition year 1968.
[4]. Markel Epelde García Bessel Functions and Equations of Mathematical Physics, Final Degree Dissertation Degree in Mathematics,Leioa, 25 June 2015.
[5]. Prof. Dr. Hassan Mustafa Al-Ewaidi and others, Differential Equations (Part Two). Rudin , AlRasheed Library, Kingdom of Saudi Arabia, 2005.


